EARAROBREBRT —5 XN—ZXBISH—F

2022668268 (BH) 405048

ESFOHBAIJHAEI C3 5%k EEEE IR
[xE%] 1&:600,000H  23&:210,000 @  33#&:120,000 9 . 43%&:90,000 " . 5 3&:60,000 4
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N % MR 123, -2-2- 6| - I@Es (S50
1171 7|7)3=> A 1(2_3)6 ke 1 ig? mEEE
Rib—trya—sy B:IU—IvVI)L RERS
Sgn— ® BRER 123, -1-1- . - #lBE (&)
208l9|*OVEHS—R IR &) 1(213)8 [ ) f_g mED
RiFA IR v— B:FFIARDO— S WS
), A o4 | BEEX 1:24.1 6-6-4-3 | 39.7| - 2 470 |BPEZ (&)
3 4|\ ZTIWTAY 56.0 a1/ 1 | @ J PNz
RiFVyvB/ 8+ B:FVI-IE—Yav I URUKIS
w <, LN~ RS —EA : -7-7- - AELEE (F50)
. 6| V2—vETUn 4 | BE 1(.322.)3 7-7-7-4 | 39.1 3 3411) el
RNV vH— B:Ya—-rIdqIS ESHIT7—1L
s 55 4 | BAX 1:24. -5-6-6 | 40.3| — Achfi— (E40)
slo| o | AAVTTFITA L Z y 1/28) 5-5-6-6 | 40.3 5 :1575) e
Ri/ITTURN BiAFIINYI— pN=L e ]
_ < e LLIlE3ER : = FHA &
N, rsarovn % o | g e | oens [mal = | 8 | @ [ EROn
RIAN—ZVIR—L B:I1FFLUI—R thith K
= 'S 410 | Bt 1:25.4 3-3-3-5 | 41.2] - 8 532 | BREMST (S5)
7|88 T —LANT 5%.0 F5) Cy | @ 27—2rEevay
RFAIXTv— BNFIVT e [=loese
- KEHEE : -8-9- - AT (&)
8101 | hxPTyvFay #11 | 1.(246;.3 8-8-9-9 | 40.0 6 (5_071) =
RT—IVRPUI—)L BEUAY ALY TSN
T FECAR :26. -4-5- - BIE— @0
9 3| F=ILFY # 8 | MEX 1(72(‘::)3 4-4-5-7 | 421 7 (4+530) a - (&
RiF4—TAHhA4 B:EVYv—3 SR SHEKES
@ 11— —‘@BIEfI
13—7F— 9,7,8,3,5,4,6,1,2
20—73+— |9,7.8,3,5,4,6,1,2
30—7+— 9,7,8,4,3,5,6,2,1
40—7F— 9,7,4,6,8,5,3,2,1
0 ILRE
BB 7 1508 | | 94 K 7-9 2004 & 7-8 620 3EE 4-7-9 4004
B B 7 100H 4-7 110H 5B E 79 780M 3EE 7-9-4 2,160
9 140 4-9 210 o= 7-9 1,260
4 110/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




